BALFE, W., and F. COULSON, Stoney Creek, Narrabri, N.S.W.

N.S.W.

Boyle Bros., Lake Goldsmith, Beaufort, Vic. Brown, J. T. and R. D., Yarran Clump, Narrabri, PFITZNER, G. C., Goolgowi, N.S.W. N.S.W.

CAMERON, A. A., P.O. Box 4, Harwood Island, N.S.W.

Cameron, V. W., P.O. Box 62, Berrigan, N.S.W.

Central N.S.W. District Exhibit, c/o. S. V. Emerton, 23 Commerce-st., Taree, N.S.W.

Christie Bros., Llandudno, Boggabri, N.S.W.

Crace, R. G. L., Gungaderra, Canberra.

DIEKMAN, F. G., 49 Lofberg-rd., Pymble, N.S.W. Dohnt, J. G., Bonnie Brae, Eumungerie, N.S.W.

EDMONDS, I. E., Weetalibar, Narrabri, N.S.W. Eime, R. H., P.O. Box 9, Blyth, S.A.

Emery, B., Wogomia House, Nowra, N.S.W.

GILHOME R. W., Bexley, Gum Flat, Inverell, N.S.W.

Gilhome, W., Weetwood, Gum Flat, N.S.W. Gordon, E. H., Brooklyn, Narrabri, N.S.W.

Gow, C. B., 26 Cox-st., Windsor, N.S.W.

Griffin, A. H., Robin Vale, Terramungamine, Dubbo, N.S.W.

HARRIS, I. S., Karadgery, Quandialla, N.S.W.

Hassall, A. B., Kiewa, Gilgandra, N.S.W.

Hayne, V., 10 Violet-st., Narrabri, N.S.W.

JOHNSON, R. R., Forbes-rd., Grenfell, N.S.W.

LAVIS, G. A., Rewlee, Bodalla, N.S.W.

Lavis, N. J., Rewlee, Bodalla, N.S.W.

Lavis, R. J., Rewlee, Bodalla, N.S.W.

McCLELLAND, J. J., Shoalhaven-st., Klama, N.S.W.

McCutcheen, A. H. and D. W., Clamaltha, Narrabri, N.S.W.

McDonald, N., Ulva. Mulwala, N.S.W.

McGrath, H., Junr., South Nowra, N.S.W.

McGrath, W. H., P.O. Box 24, Nowra, N.S.W.

Mahlo, C. B., Driftwater, Old Grenfell-rd., Forbes, N.S.W.

Milliner, K. E., Cudgee Apiaries, Kangy, Ourimbah, N.S.W.

Moreton and Downs. Q'ld. District Exhibit, c/o. B. Haag, Tevlotville, Fassifern Line, Q'ld.

ANDERSON, A. R., Springfield, R.M.B. 604, Wel- NELSON, A. C., Private Mail Bag, Kempsey, N.S.W.

> Northern N.S.W. District Exhibit, 15 Molesworthst., Lismore, N.S.W.

Barrett, J. N., Yera, Edgerol, T.P.O. North West, ORMAN, C. C. and J. W., Junefield, Narrabri,

Pickering, R. J., Wha-ree, Quirindi, N.S.W.

Purvis, T. L., 3 Allison-st., Dubbo, N.S.W.

RITTER, C. G., Bowmar Farm, Gloucester, NSW. Roberts, E. E., and S. I. Amey, Oakwood, Dubbo, N.S.W.

Ross, H. R., Garangula, Harden, N.S.W.

SAUL, W. T., Bellimbopinni, N.S.W.

Scattergood, A. H., 3 Gerald-st., Queanbeyan, N.S.W.

Seabrook, W. T., and Co., 8 Borrodale-rd., Kingsford, N.S.W.

Smart, L., Cawdor, Camden, N.S.W.

Southern N.S.W. District Exhibit, P.O. Box 14, Tumbarumba N.S.W.

Spargo, R., Ringwood, Suntop, Wellington, NS.W.

Sparke, C. G. L., Barega, Spring Ridge-rd., Quirindi, N.S.W.

Stitt, L. M., 22 York-st., Taree, N.S.W.

Stitt. R. A., Wingham-rd., Taree, N.S.W.

Suffolk, J. A., Lebanon, Tomerang, N.S.W.

TAYLOR, R. H., 25 Denison-st., Mudgee, N.S.W.

Tomkins, H. N., Weewak, Edgerol, N.S.W.

Troy, E. H. A., Ostenleigh, Quandialla, N.S.W.

Troy, V. W. R., Bland Park, Quandialla, N.S.W.

UNGER, M. P., Stony Hill, Alectown, N.S.W

VEITH, G. E., Mount-st., South Gundagai, N.S.W.

WALL and HAIRE, Glen Isle, Narrabri, N.S.W.

Wall, J. L., Stoney Creek, Narrabri, N.S.W.

Wall, J. W., Stoney Creek, Narrabri, N.S.W. Webber, R., Kanimbla, Harden, N.S.W.

Western N.S.W. District Exhibit, c/o, P. Bushell, 68 The Terrace, Windsor, N.S.W.

Whiteman, F. J., and Estate of A. B. Meppem, Woodville, Narrabri, N.S.W.

Wonga Apiaries, 14 Findhorn-st., Crookwell, N.S.W.

Worboys, B. C. and L. G., Ringwood, Gunnedah, N.S.W.

YORK, J. H., and Son, P.O., Box 69, Quirindi, NSW.

办T'S ALWAYS CHEAPER

Section II - DAIRY PRODUCE

BUTTER, DRIED MILK, CHEESE, HAMS, BACON, AND LARD.

Committee:

J. R. Graham (Chairman) J. Angus

W. A. Chaffey R. J. F. Downes

Lt.-Col. T. E. Irwin F. A. McIntosh

H. C. M. See G. F. Shirley

E. A. Southee

Stewards:

E. H. Headley

R. W. Moore

A. B. Shelton

F. Wilkinson

H. Perrott

P. V. Roods

1 Misabbar

Steward-in-Chief:

J. R. Graham

Assistant Steward in-Chief:

F. A. Southee

General Stewards

A. Miller

R. W. Hewett

A. Walker

BUTTER.

(Local Consumption):

J. T. Dickson

Department of Agriculture, NSW

Sydney.

(Export Butter): R. C. Hottes,

Department of Primary Industry,

Margaret-st., Sydney.

Department of Primary Industry,

Margaret-st., Sydney.

(Royal Export):

M. E. McShane.

Department of Commerce and Agriculture,

London.

JUDGING DAY.

Unless otherwise stated the judging of Dairy Produce exhibits will commence at 9 a.m., Thursday, 27th March.

PAVILION OPEN TO PUBLIC. The Dairy Produce Pavilion will be open to the public daily from 3 a.m. to 10 p.m., except Monday, 31st March, and Good Friday, 4th April, on which days the Pavilion will close at 6 p.m.

TROPHIES ON DISPLAY.

Trophies offered for competition in the Dairy Produce Section shall be on display in the special windows provided for the purpose in the Society's General Showground Office.

SPECIAL DAIRY PRODUCE REGULATIONS.

Exhibitors are reminded that the Society's General Regulations apply to all sections of the Show and that the Special Regulations hereunder set out which apply to this section only are merely supplementary to the General Regulations.

Butter MUST be manufactured at the factory or branch factory in which name each entry is made. Only one entry to may be made by each factory or branch factory in each class.

Entry Fee Members and Associate-Members, 5s.; Non-Members, 10s., unless otherwise specified.

Butter in all classes to be made from pasterised cream and no preservative other than salt to be added.

All butter exhibited may be subject to analysis.

Butter, other than that in cold storage, must be in position by 9 p.m., Wednesday, 26th March.

BOXES.

LOCAL BOXES (BRANDED BOXES NOT PERMITTED).

All exhibits for Classe 2 to 8 to be addressed to the Director, Royal Agricultural Society of N.S.W., e/o. Waterside Stores Pty., Ltd., 18 Point-st., Pyrmont, Sydney, and must be in cold store as stated in each class.

For purposes of identification a label, bearing the full name of the exhibitor (Factory) together with full particulars of the class for which the exhibit is intended, must be securely affixed to the lid of each box before it is wrapped in its protecting cover. Similar particulars regarding the identification of exhibits must also be sewn on the protective coverings.

The surface of the hutter must be impressed with the Australian Roller Brand.

An exhibitor who may desire to go through the exhibits with the judge, after judging day, shall make an appointment through the Steward-In-Chief or the Director.

Make short work of your grass using an 18" CLYDE.

Sec. 11-DAIRY PRODUCE-Butter (Continued).

Arrival and Departure of Exhibits.

Butter for classes as hereunder mentioned must be addressed to the Director, Royal Agricultural Society of N.S.W. c/o. Waterside Cold Stores Pty., Ltd., 10 Point-st., Pyrmont, Sydney, and be delivered not later than the dates shown

Class 2-Monday, 23rd December.

Class 6-Thursday, 20th February.

Classes 8 and 4-MONDAY, 2nd DECEMBER.

Class 7-Wednesday, 12th March. Class 8-Monday, 17th March.

Class 5-Tuesday, 28th January.

Delivery of butter will be made not later than 5 p.m. on Wednesday, 9th April. A delivery order from the factory is required when collection is being made by an agent.

Storage of Export Butter.

All exhibits for storage will be placed in cool chamber and kept at a temperature not exceeding 20 degrees. The exhibits will be removed from Cold Store to Showground after judging.

Unclaimed Exhibits.

All exhibits unclaimed on Wednesday, 9th April, will be sent to an agent and sold; the proceeds, less expenses, will be forwarded to exhibitor.

SCALE OF POINTS FOR JUDGING BUTTER.

	Point
FLAVOUR AND AROMA: Should be clean and mild	 50
TEXTURE: Includes body, grain and moisture incorporation	 30
CONDITION: Includes salting, colour, packing and finish	 20
	 -

TOTAL 100

MOST SUCCESSFUL EXHIBITOR PRIZES. (Dried Milk, Cheese, and Bacon Curer.)

The most successful exhibitor prizes in this Section shall be determined as follows, viz.:—Only exhibitors with three or more exhibits shall be considered for this prize. The total number of points awarded to each exhibit by the Judge shall be divided by the total number of entries made by the exhibitor and to the result obtained shall be added the following points, viz.:—Three for each first prize, two for second, and one for third; the exhibitor gaining the highest result and be the winner. Should two or more exhibitors gain an equal number of points, the winner. Should two or more exhibitors gain an equal number of points, the Most Successful Exhibitor Prize will be awarded to the exhibitor gaining the greatest number of first prizes. Should the points still be equal the number of second prizes, and if necessary the number of third prizes will be taken into account in determining the prizes. In the case of a maker (Dried Milk, Cheese, and or Bacon Curer) who exhibits in the names of two or more factories. each factory will be regarded as a separate and distinct exhibitor.

Special Prizes, £40, viz.: First, £20; second, £12 10s.; third, £5; fourth, £2 10s. £5 or a cup or trophy will be presented to the respective butter-makers of the factories securing the first, second, third and fourth prizes. The factories shall nominate, on the certificate of entry, the recipients (butter-makers) of the prize money, cups, or trophies.

A Bronze Medal will be awarded each factory gaining a box average of 93.5 per cent over the period of competition, provided that for any one month the average grading of the factory shall not be under choicest grade of 93 points.

CONDITIONS

- 1. The competition is for salted or unsalted butter sold on the local market in N.S.W.
- 2. The Grading Period will cover seven months, viz.:-March and April, 1957, followed by the period October, 1957, to February, 1958, inclusive. From the consignments during the month of February, one box may be taken for exhibition at
- 3. Every factory competing must grade officially at least 85 per cent of its production as choicest
- 4. The official grading by the State Officers of all the registered choicest brands of factories entered for this competition will be taken each month for the full period and results worked out by taking the actual mean average in which the number of boxes in each consignment, together with the grading points, is taken into account.
- 5. At least four gradings must be recorded each 24. Wingham Rural Co-op. Society, Ltd.

CLASS 1—CONTINUOUS GRADING CLASS FOR month including at least four churnings, representing at least two vats of cream in each grading ing at least two vats of cream in each grading during the period of the competition. A competitor who fails to comply with this condition will automatically become ineligible for the prizes.

> 6. The grading points allotted by the State Graders will be taken for the full period and a box average established by dividing the total of the points allotted to each consignment by the total number of boxes graded, and the exhibits obtaining the highest box averages will be awarded the prizes

- 1. Bega Co-op. Society, Ltd.
- 2. Bellinger River Co-op. Butter and Bacon Society, Ltd.
- 3. Casino Co-op. Dairy Society, Ltd
- 4. Clarence River Pioneer Co-op. Dairy Co., Ltd.
- 54 Cobargo Co-op, Society, Ltd.
- 6. Comboyne Rural Co-op. Society, Ltd.
- 73 Dorrigo Co-op. Dairy Co., Ltd.
- 8. Foley Bros. Pty., Ltd. (Lismore). 9. Gloucester Co-op. Dairy Co., Ltd.
- 10. Hunter Valley Co-op, Dairy Co., Ltd.
- 11. Macleay River Co-op. Dairying Co., Ltd.
- 12. Manning River Co-op. Dairy Society, Ltd.
- 13. Nambucca River Co-op, Dairy Society, Ltd.
- 14. Norco Co-op., Ltd. (Bonalbo),
- 15. Norco Co-op., Ltd. (Byron Bay),
- 162 Norco Co-op., Ltd. (Kyogle).
- 174 Norco Co-op., Ltd. (Lismore).
- 18. Norco Co-op., Ltd. (Murwillumbah).
- 19. Nowra Co-op. Dairy Co., Ltd. 20. Pambula Co-op. Creamery and Dairy Co., Ltd.
- 21. Peters Creameries Ptv., Ltd.
- 22. Singleton Co-op. Dairy Co., Ltd. 23. South Wolumla Co-op. Creamery Co. Ltd.

ALWAYS CHEAPER COLES

Sec. 11-DAIRY PRODUCE-Butter (Continued).

- CLASS 2-Butter, salted, 1 package, not less than 56lb. Manufactured and packed ready for storage for local consumption. The butter will be judged on arrival at Cold Store, prior to being placed in storage, and again prior to the Show. The factories gaining the greatest aggregate of both judgings will be awarded the prizes. Exhibits to be in Cold Store by Monday, 23rd December. Prizes-First, £10; second, £5; third,
- 25. Bega Co-op, Society, Ltd.
- 26. Candelo Co-op, Dairy Society, Ltd.
- 27. Casino Co-op, Dairy Society, Ltd.
- 28. Cobargo Co-op. Society, Ltd.
- 29. Comboyne Rural Co-op. Society, Ltd.
- 303 Dorrigo Co-op, Dairy Co., Ltd.
- 31. Downs Co-op. Dairy Assoc., Ltd. (Clifton).
- 32. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).
- 33. Downs Co-op. Dairy Assoc., Ltd. (Dalby).
- 34. Downs Co-op. Dairy Assoc., Ltd. (Goombungee).
- 35. Downs Co-op, Dairy Assoc., Ltd. (Jandowae),
- 37. Downs Co-op. Dairy Assoc., Ltd. (Miles). 60. Bega Co-op. Society, Ltd.
- 38. Drouln Co-op. Butter Factory Co., Ltd.
- 39. Foley Bros. Pty., Ltd. (Lismore).
- 40. Foley Bros. Pty., Ltd. (Mullumbimby).
- 41. Hunter Valley Co-op, Dairy Co., Ltd.
- 42. Illawarra Co-op. Central Dairy Society, Ltd.
- 43. Kiewa Butter and Cheese Factory and
- Creamery Co., Ltd. 44. Macleay River Co-op. Dairying Co., Ltd.
- 45. Manning River Co-op. Dairy Society, Ltd.
- 46. Maryborough Co-op, Dairy Assoc, Ltd. (Kingarov).
- 47. Maryborough Co-op. Dairy Assoc., Ltd. (Mundubbera).
- 48. Maryborough Co-op. Dairy Assoc., Ltd. (Won-
- dal)
- 50. Norce Co-op., Ltd. (Bonalbo).
- 51. Norco Co-op., Ltd. (Byron Bay).
- 52/ Norco Co-op., Ltd. (Kyogle).
- 532 Norco Co-op., Ltd. (Lismore).
- 54. Norco Co-op., Ltd. (Murwillumbah),
- 55. Nowra Co-op. Dairy Co., Ltd.
- 56. Peters Creameries Pty., Ltd.
- 57. South Wolumla Co-op, Creamery Co., Ltd. 58. Upper Macleay Co-op, Dairy Co., Ltd.
- 59. Wingham Rural Co-op. Society, Ltd.

- CLASS 3-Butter, salted, 2 packages, not less than 561b. each. Manufactured and packed ready for export. Prizes-First, £10; second, CLASS 4-Butter, unsalted, 2 packages, not less £5; third, £2.
- (a) One box to be staged and judged at the Show, the other box to be forwarded to London and judged there. Points for both judgings, in Sydney and London, to be added and the prizes awarded to the factories obtaining the highest aggregate points, after points for consistency are taken into account.

- (b) Points for consistency in grading will be reconciled by deducting from the aggregate points obtained any points allotted by the judges under the standard of choicest-93 points, e.g., if a butter is awarded 92 points, one point is deducted from the aggregate
- (e) Butter to contain a minimum of 15 per cent of water and not to contain any preservative other than salt.
- (d) Butter must be in plain standard local boxes (branded boxes not permitted), For purpose of identification each box to bear a label stating name of exhibitor and number of class to be competed for. Labels will be removed after boxes have been numbered and registered.
- (e) The butter will, after judging, be sold on factories' account and returns sent to individual factories by the Society.
- 61. Casino Co-op. Dairy Society, Ltd.
- 5 62. Cobargo Co-op. Society, Ltd.
- 63. Comboyne Rural Co-op. Society, Ltd.
- 64./Dorrigo Co-op. Dairy Co., Ltd.
- 65. Downs Co-op. Dairy Assoc., Ltd. (Clifton).
- 66. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest). 67. Downs Co-op. Dairy Assoc., Ltd. (Dalby).
- 68. Downs Co-op, Dairy Assoc., Ltd. (Goombungee).
- 69. Downs Co-op. Dairy Assoc., Ltd. (Jandowae).
- 70. Downs Co-op. Dairy Assoc., Ltd. (Miles).
- 71. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba).
- 72. Foley Bros. Pty., Ltd. (Lismore).
- 733 Foley Bros. Pty., Ltd. (Mullumbimby)
- 74. Illawarra Co-op, Central Dairy Society, Ltd. 75. Klewa Butter and Cheese Factory and
- Creamery Co., Ltd. 49. Nambucca River Co-op. Dairy Society, Ltd. 188 76. Manning River Co-op. Dairy Society, Ltd.
 - 77. Maryborough Co-op. Dairy Assoc., Ltd. (Kinga-
 - 78. Maryborough Co-op. Dairy Assoc., Ltd. (Wondai).
 - 79. Nambucca River Co-op, Dairy Society, Ltd.
 - 80. Norco Co-op., Ltd. (Bonalbo).
 - 3 sa 81. Norco Co-op., Ltd. (Byron Bay).
 - 82. Norco Co-op., Ltd. (Kyogle),
 - 83. Norco Co-op., Ltd. (Lismore).
 - 84. Norco Co-op., Ltd. (Murwillumbah).
 - 85. Nowra Co-op. Dairy Co., Ltd.
 - 86. Peters Creameries Pty., Ltd.
- ROYAL SPECIAL EXPORT BUTTER PRIZES. 187. South Wolumla Co-op. Creamery Co., Ltd. 88c Wingham Rural Co-op. Society, Ltd.
 - than 56lb. each. Manufactured and packed ready for export. Prizes-First, £10; second, £5; third, £2.
 - 89. Bega Co-op, Society, Ltd.
 - 90. Casino Co-op. Dairy Society, Ltd.
 - 91. Cobargo Co-op. Society, Ltd.
 - 92. Comboyne Rural Co-op. Society, Ltd. 93/ Dorrigo Co-op, Dairy Co., Ltd.
 - 94. Downs Co-op. Dairy Assoc., Ltd. (Clifton),

1958 ROYAL EASTER SHOW-SECTION 11 - CLASS 1.

AWARD		FACTORY	Boxes	MARCH Grading	Aver-	Boxes	APRIL Grading	Aver-
			20,000	Points	age		Points	age
	1,	Bega Co-op. Society	7 780	72,540	93	284	26,412	93
	2.	Bellinger River Co- op. Society, Ltd.	- 1359	126,057	92.76	1568	145,730	92.94
	3.	Casino Co-op.Dairy Society,Ltd.	7917	734,985	92.84	7800	724,837	92.93
	4.	Clarence River Pion eer Co-op.Dairy Co.		164,290	92.3	1496	139,101	92, 98
FIRST	5.	Cobargo Co-op. Society, Ltd.	1778	165,505	93.08	838	78,410	93.57
	6.	Comboyne Rural Co- op. Society, Ltd.	726	67,422	92.87	562	51,726	92.04
THIRD	7.	Dorrigo Co-op. Dair Co., Ltd.	y 2000	186,353	93.18	2581	241,967	93.75
	8.	Foley Bros. Pty., Ltd. (Lismore)	98 03	907,281	92.55	7405	687,945	92.90
	9•	Gloucester Co-op. Dairy Co., Ltd.	1380	127,905	92.68	724	67,039	92.6
	10.	Hunter Valley Co-op Dairy Co., Ltd.	. 1171	107,392	91.71	-		-
	11.	Macleay River Co-op Dairying Co., Ltd.	2050	190,570	92.96	1242	115,681	93.14
	12.	Manning River Co-op Dairy Society, Ltd.	. 1441	134,348	93.23	1515	140,895	93
	13.	Nambucca River Co- op.Dairy Society,Lt	2429 d.	225,463	92.82	1524	142,295	93.37
	14.	Norco Co-op., Ltd. (Bonalbo)	1726	160,381	92.92	- 945	88,362	93.50
	15.	Norco Co-op., Ltd. (Byron Bay)	8200	765,980	93.41	6819	633,610	92.92
SECOND	16.	Norco Co-op., Ltd. (Kyogle)	10624	998,656	94	7334	689,171	93.97
FOURTH	17.	Norco Co-op.,Ltd. (Lismore)	19505	1,833,541	94	11394	1,065,843	93.54
	18.	Norco Co-op.,Ltd. (Murwillumbah)	5920	551,275	93.12	4555	423,040	92.87
1	19.	Nowra Co-op.Dairy Co., Ltd.	664	61,752	93	719	66,818	92.93
		Pambula Co-op. Creamery and Dairy Co., Ltd.	371	34,503	93	324	30,132	93
		Peters Creameries Pty., Ltd.	4915	456,560	92.89	7200	670,485	93.12
		Singleton Co-op. Dairy Co., Ltd.	1274	118,432	92.96		- Constitution	
	_	South Wolumla Co- op.Creamery Co.,Ltd.	Щ2	40,930	92.60	316	29,388	93
		Wingham Rural Co-op.Society, Ltd.	2054	191,261	93.12	1180	109,401	92.71

Boxes	OCTOBER Grading Points		- Boxes	NOVEMBER Grading Points	Aver-	Boxes	DECEMBER Grading Points	Aver-	-
1423	132,339	93	1832	169,848	92.71	. 2641	245,432	92.93	
1746	162,749	93.2	1 1254	116,133	92.61	. 1455	134,563	92.48	
6269	582,577	92.93	3 7937	735,745	92.7	6923	639,718	92.40	
1334	124,062	93	1751	163,177	93.2	1294	121,117	93.60	
1908	179,352	94	1540	144,760	94	1090	102,018	93.59	
534	49,662	93	901	89,513	92,69	547	50,774	92.82	
325	30,550	94	1535	143,421	93.43	2182	204,233	93.60	
2493	233,210	93.55	9670	901,617	93.24	9448	879,031	93.04	
1249	115,655	92.6	346	32,083	92.73	834	76,523	91.75	
_		_	-			_	_	_	4
3679	342,266	93.03	3900	362,626	92.98	2219	205,637	92.67	
1917	178,281	93	1360	127,006	93.39	and the same of th			
3150	292,774	92.94	2173	201,723	92.83	264 6	245,129	92.64	
881	81,933	93	1103	102,995	93.38	1240	115,287	92.97	
6994	652,264	93.26	6646	621,779	93.56	8210	766,125	93.32	
7570	709,600	93.79	8891	834,514	93.86	10795	1,005,860	93.18	
9818	917,090	93.41	15420	1,442,100	93.52	15304	1,427,232	93.26	
4835	452,815	93.65	5145	479,245	93.15	7750	719,260	92.81	
857	79,938	93.28	731	68,203	93.30	e-mandage		_	
			MAG						
			782	72,769	93.05	898	83,332	92,80	
5384	546,916	92.96	4.352	404,008	92.83	1998	185,641	92.91	
778	71,576	92		endopment and		eggent/ind	describinate		
417	38,781	93	932	86,676	93	875	81,126	92.72	
1919	178,467	93	1201	111,671	92.98	687	63,891	93	

							AGGREGATE	
Boxes	JANUARY Grading Points	Aver-	Boxes	FEBRUARY Grading Points	Aver- age	Total	Total Grading Points	Aver-
1757	163,126	92.84	2609	242,456	92.94	11326	1,052,153	92.90
1671	154,878	92.69	2304	212,593	92.27	11357	1,052,703	92.69
5881	545,543	92.59	8512	795,675	93.48	51239	4,759,080	92.88
2265	210,782	93.06	1976	183,909	93.07	11896	1,106,438	93.01
854	79,899	93.56	1422	132,841	93.42	9430	882,785	93.61
531	49,367	92.97	765	70,726	92.45	4566	423,190	92.68
2483	232,098	93.47	2102	196,603	93.54	13208	1,235,225	93.52
8671	806,761	92.98	13417	1,245,575	92.84	60913	5,661,420	92.94
				-		*		_
			60 ga 40					Crisis Clar
2371	220,503	93	2092	194,080	92.77	17553	1,631,363	92.94
_			364	33,852	93	-		
2170	201,651	92.93	1827	169,370	92.70	15919	1,478,4 05	92.87
926	85,733	92.58	1349	124,682	92.43	8170	759,373	92.95
6203	576,879	93	7536	698,317	92,66	50608	4,714,954	93.16
8055	748,525	92.93	7542	703,456	93.27	60811	5,689,782	93.57
15238	1,421,425	93.22	16754	1,556,595	92.91	103433	9,663,326	93.43
4596	423,934	92.24	7322	672,929	91.90	40123	3,722,498	92.78
-						-		-
903	83,647	92.63	571	52,543	92.02	positive.		
			2827	261,558	92.52	-	-	_ "
	_		925	85,964	92.93	_		-
1060	98,269	92.71	711	65,547	92.20	4753	440,717	92.72
689	64,077	93	1390	129,214	92.96	9120	847,982	92.98

11-4

Sec. 11-DAIRY PRODUCE-Butter (Continued).

	Nes	t).					
96.	Downs	Co-op.	Dairy	Assoc.,	Ltd.	(Dalby).	
	1 Ac. 10 mas						

97. Downs Co-op. Dairy Assoc., Ltd. (Goom-

98. Downs Co-op. Dairy Assoc., Ltd. (Jandowae). 99. Downs Co-op. Dairy Assoc., Ltd. (Miles).

100. Downs Co-op, Dairy Assoc., Ltd. (Toowoomba)

101. Foley Bros. Pty., Ltd. (Lismore).

102. Foley Bros. Pty., Ltd. (Mullumbimby). 103. Kiewa Butter and Cheese Factory and

Creamery Co., Ltd. 1042 Manning River Co-op. Dairy Society, Ltd.

(Kingaroy).

106. Maryborough Co-op. Dairy Assoc., Ltd. (Wondai).

107. Nambucca River Co-op. Dairy Society, Ltd.

108. Norco Co-op., Ltd. (Bonalbo). Dischoo, Norco Co-op., Ltd. (Byron Bay).

110. Norco Co-op., Ltd. (Kyogle).

111. Norco Co-op., Ltd. (Llsmore).

112. Norco Co-op., Ltd. (Murwillumbah).

113. Nowra Co-op. Dairy Co., Ltd.

114. Peters Creameries Pty., Ltd. 115. South Wolumla Co-op, Creamery Co., Ltd. 116.3Wingham Rural Co-op. Society, Ltd.

The "ORIENT LINE JUBILEE COMMEMORA-TION AWARD FOR EXPORT BUTTER"-BRONZE PLAQUE AND £15 15s., presented by the Orient Steam Navigation Co., Ltd., to the

Factory securing the highest aggregate points of both judgings for each of the above classes (3 and 4). DORRIGE CON DAM COLID 376 HATS

The butter for London will be shipped per R.M.S. "Orontes" on WEDNESDAY, 11th DEC-EMBER, and the results of the judging in London will be cabled, which will enable the final awards to be announced during the 1958 Royal Easter Show.

CLASS 5-Butter, salted, 1 package, not less than 56lb. Manufactured and packed ready for export. Exhibits to be in Cold Store by Tuesday, 28th January. Prizes-First, £7; second, £3 15s.; third, £1 10s.

117. Bega Co-op, Society, Ltd.

118. Bellinger River Co-op, Butter and Bacon Society, Ltd.

119. Candelo Co-op. Dairy Society, Ltd.

120. Casino Co-op. Dairy Society, Ltd.

121, Cobargo Co-op, Society, Ltd.

122. Comboyne Rural Co-op. Society, Ltd.

123. Dorrigo Co-op, Dairy Co., Ltd.

124. Downs Co-op. Dairy Assoc., Ltd. (Clifton),

125. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).

126. Downs Co-op. Dairy Assoc., Ltd. (Dalby).

127. Downs Co-op. Dairy Assoc., Ltd. (Goom-

128. Downs Co-op, Dairy Assoc., Ltd. (Jandowae). 129. Downs Co-op. Dairy Assoc., Ltd. (Miles).

95. Downs Co-op. Dairy Assoc., Ltd. (Crow's 130. Downs Co-op. Dairy Assoc., Ltd. (Toowoomha)

131. Drouin Co-op, Butter Factory Co., Ltd.

132. Foley Bros. Pty., Ltd. (Lismore),

133. Foley Bros. Pty., Ltd. (Mullumbimby).

134. Illawarra Co-op, Central Dairy Society, Ltd.

135. Kiewa Butter and Cheese Factory and Creamery Co., Ltd.

1363 Macleay River Co-op. Dairying Co., Ltd.

137. Manning River Co-op. Dairy Society, Ltd.

138. Maryborough Co-op. Dairy Assoc., Ltd. (Kingaroy),

105. Maryborough Co-op. Dairy Assoc., Ltd. 139. Maryborough Co-op. Dairy Assoc., Ltd. (Mundubbera).

140. Maryborough Co-op. Dairy Assoc., Ltd. (Wondat).

1412 Nambucca River Co-op, Dairy Society, Ltd.

142. Norco Co-op., Ltd. (Bonalbo).

143. Norco Co-op., Ltd. (Byron Bay).

144. Norco Co-op., Ltd. (Kyogie).

145. Norco Co-op., Ltd. (Lismore).

146. Norco Co-op., Ltd. (Murwillumbah).

147. Nowra Co-op. Dairy Co., Ltd.

148. South Burnett Co-op. Dairy Assoc., Ltd. (Murgon).

149. South Burnett Co-op. Dairy Assoc., Ltd. (Proston).

150. South Wolumla Co-op. Creamery Co., Ltd.

1511 Upper Macleay Co-op. Dairy Co., Ltd.

152. Wingham Rural Co-op. Society, Ltd.

BUTTERMAKERS' COMPETITION.

CLASS 6-(Special Prizes)-First, £15; second, £10; third, £7; fourth, £5; fifth, £3. For the maker of the best box of choicest butter, not less than 56lb. Butter to contain a minimum of 15.5 per cent and a maximum of 16 per cent of moisture; also a minimum of 1.3 per cent and a maximum of 2 per cent of salt. A separate exhibit to be provided for this competition. The entry to be in the name of the maker of the butter; the name of the factory to which the competitor is maker to be stated on certificate of entry; the name of the factory shall not be published until after judging. Exhibits to be in Cold Store by Thursday, 20th February.

153. Andersen, F. J. 166. Hall. J. 154. Astbury, K. 167. Hanford, G. 155.2 Barron, V. 168. Howlett, S. B. 156. Batchelor, C. G. 169. Jenkins, A. S. 157. Blythe, H. W. 170 Kedzlie, A. 171. Kennett, F. 158. Browne, W. A. 159. Browning, C. 172. Kirk, A. 173. McCann. B. 160. Cork, L. G. 161. Dunning, W. J. 174. McCarthy, E. 175. Moy, R. 162. Ferguson, W. 176. Neale, J. 163. Galvin, J. 177. O'Dea, T. 164. Gerahty. M. 178. Patterson, W. 165. Green, A.

Sec. 11-DAIRY PRODUCE-Butter (Continued), and Dried Milk.

179. Pollock, J.	185.2 Shaw, P.
180. Raftery, K. L.	186. Squelch, C.
181. Rawson, J. G.	187. Walker, S.
182. Rennick, W.	188#Wheeldon, J.
183. Rodgers, W. H.	189. Wilson, W. J.
184./ Russell, T. E.	

IT'S

CLASS 7-PRINT BUTTER, one box containing not less than 27 and not more than 54 11b. prints of salted butter. To be printed and packed at the factory and wrapped in special wrappers supplied by the Society. Wrappers will be forwarded to each factory immediately on receipt of entry. The top layer of each box to be laid flat with the printed side of wrappers uppermost. Exhibits to be in Cold Store not later than Wednesday, 12th March, sixteen days prior to the opening date of the Show. Prizes-

190. Hega Co-op. Society, Ltd.

191. Bellinger River Co-op. Butter and Bacon Society, Ltd.

First, £8; second, £5; third, £2.

192. Candelo Co-op. Dairy Society, Ltd.

193. Cobargo Co-op. Society, Ltd.

194. Comboyne Rural Co-op. Society, Ltd.

195. Dorrigo Co-op. Dairy Co., Ltd.

196. Foley Bros. Pty., Ltd. (Lismore),

197. Gloucester Co-op. Dairy Co., Ltd.

198. Macleay River Co-op. Dairying Co., Ltd. 1992 Manning River Co-op. Dairy Society, Ltd.

200. Nambucca River Co-op, Dairy Society, Ltd.

201. Norco Co-op., Ltd. (Bonalbo).

202. Norco Co-op., Ltd. (Byron Bay). 2034 Norco Co-op., Ltd. (Kyogle).

204. Norco Co-op., Ltd. (Lismore).

205. Norco Co-op., Ltd. (Murwillumbah).

2063 Nowra Co-op. Dairy Co., Ltd. 207. Peters Creameries Pty., Ltd.

208. South Burnett Co-op, Dairy Assoc., Ltd. (Proston).

209. South Wolumla Co-op. Creamery Co., Ltd.

210. Upper Macleay Co-op. Dairy Co., Ltd.

211. Wingham Rural Co-op. Society, Ltd.

CLASS 8-Butter, 1 package, not less than 56lb. Manufactured for local consumption. Exhibits to be delivered to the Cold Store, where they will be judged, not later than Monday, 17th March. Prizes-First, £15; second, £10; third, £7; fourth, £5.

212. Bega Co-op. Society, Ltd.

2134 Bellinger River Co-op. Butter and Bacon R. C. Hottes, Society, Ltd.

214. Candelo Co-op. Dairy Society, Ltd. 215. Casino Co-op. Dairy Society, Ltd.

216. Cobargo Co-op. Society, Ltd. 217. Comboyne Rural Co-op. Society, Ltd.

218. Dorrigo Co-op. Dairy Co., Ltd.

219. Downs Co-op. Dairy Assoc., Ltd. (Clifton). 220. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).

221. Downs Co-op. Dairy Assoc., Ltd. (Dalby).

222. Downs Co-op. Dairy Assoc., Ltd. (Goombungee).

223. Downs Co-op, Dairy Assoc., Ltd. (Jandowae).

224. Downs Co-op. Dairy Assoc., Ltd. (Miles).

225. Downs Co-op. Dairy Assoc., Ltd. (Toowoomha)

226. Drouin Co-op, Butter Factory Co., Ltd.

227. Foley Bros. Pty., Ltd. (Lismore).

228. Foley Bros. Pty., Ltd. (Mullumbimby).

229. Gloucester Co-op. Dairy Co., Ltd.

230. Hawkesbury Agricultural College.

231. Hunter Valley Co-op. Dairy Co., Ltd.

232. Illawarra Co-op. Central Dairy Society, Ltd. 233. Kiewa Butter and Cheese Factory and Creamery Co., Ltd.

234. Macleay River Co-op. Dairying Co., Ltd.

235. Manning River Co-op, Dairy Society, Ltd.

236. Maryborough Co-op. Dairy Assoc., Ltd. (Kingaroy).

237. Maryborough Co-op. Dairy Assoc., Ltd. (Mundubbera).

238. Maryborough Co-op. Dairy Assoc., Ltd. (Wondai).

239. Nambucca River Co-op. Dairy Society, Ltd. 240. Norco Co-op., Ltd. (Bonalbo).

241. Norco Co-op., Ltd. (Byron Bay),

2422 Norco Co-op., Ltd. (Kyogle).

243.3 Norco Co-op., Ltd. (Lismore). 244. Norco Co-op., Ltd. (Murwlllumbah),

245. Nowra Co-op. Dairy Co., Ltd.

246#Peters Creameries Pty., Ltd.

247. South Burnett Co-op Dairy Assoc., Ltd. (Proston).

248. South Wolumla Co-op, Creamery Co., Ltd.

249. Upper Macleay Co-op. Dairy Co., Ltd.

250. Wingham Rural Co-op. Society, Ltd.

Special Prize-£10 10s., presented by the Producers' Co-operative Distributing Society, Ltd., Valentine and Quay-sts., Sydney, for the factory securing the greatest aggregate number of points in all classes and special prizes for butter, provided that the mean average of the Continuous Grading Class be included instead of the

DRIED MILK.

Judges: Stewards:

H. Perrott

P. V. Roods Myahel J. N. Salkeld

* www

Sydney. J. Medshey, Department of

Primary Industry, Margaret-st., Sydney.

Department of

Primary Industry,

Margaret-st..

				H	'oints
Flavour				 	50
Sediment				 	20
Solubility				 	10
Packaging	and	Арре	arance	 	20
Total		**		 	100

CLASS 9-Dried Full Cream Milk (Spray Process). To be to export standard in two UNBRANDED packages (Polyethylene bags to be supplied by the Society) each containing not less than 7lb. net weight. One bag shall be used for display purposes. Each exhibit to contain not less than 26 per cent butter-fat, not more than 5 per cent moisture, and .18 per cent titratable acidity. Prizes-First, £6; second, £2; third, £1.

251. British United Dairies Pty., Ltd. 252 Holdenson and Nielson Fresh Food Pty. Ltd. 253/ Hunter Valley Co-op. Dairy Co., Ltd. 254. Klewa Butter and Cheese Factory and Creamery Co., I.td. 2553Manning River Co-op. Dairy Society, Ltd.

256. Peters Creameries Pty., Ltd.

257. Peters Creameries (Grafton) Pty., Ltd. 258. Trufood of Australia, Ltd.

CLASS 10-Dried Full Cream Milk (Roller Process). Same conditions as Class 9. Prizes-First, £6: second, £2; third, £1.

259. Co-op. Dairy Assoc. of N.S.W., Ltd. 2602 Holdenson and Nielson Fresh Food Pty., Ltd. (Export): 261. Manning River Co-op. Dairy Society, Ltd. 2623 l'eters Creameries Pty., Ltd.

CLASS 11-Dried Skimmed Milk (Spray Process). To be to export standard in two UN-BRANDED packages (Polyethylene bags to be supplied by the Society) each containing not less than 7lb. net weight. One bag shall be used for display purposes. Each exhibit to contain not more than 4 per cent butter-fat, 5 per cent moisture, and .18 per cent titratable acidity. Prizes-First, £6; second, £2; third, £1.

263. British United Dairies Pty., Ltd. 264. Casino Co-op. Dairy Society, Ltd.

265. Co-op. Dairy Assoc, of N.S.W., Ltd.

266. Drouin Co-op, Butter Factory Co., Ltd.

267. Hawkesbury Agricultural College,

268. Holdenson and Nielson Fresh Food Pty., Ltd. 269 Hunter Valley Co-op. Dairy Co., Ltd.

270. Klewa Butter and Cheese Factory and Creamery Co., Ltd.

2712 Manning River Co-op. Dairy Society, Ltd.

2723Peters Creameries Pty., Ltd.

273. Peters Creameries (Grafton) Pty. Ltd. 274. Trufood of Australia, Ltd.

To be judged on the following scale of points: - CLASS 12-Dried Skimmed Milk (Roller Process). Same conditions as Class 11. Prizes-First, £6; second, £2; third, £1.

AT

COLES

275. Casino Co-op. Dairy Society, Ltd. 2763Co-op. Dairy Assoc. of N.S.W., Ltd. 277. Hawkesbury Agricultural College. 278. Holdenson and Nielson Fresh Food Pty., Ltd. 2791 Manning River Co-op. Dairy Society, Ltd. 2804 Peters Creameries Pty., Ltd.

CLASS 13-Dried Butter Milk. To be to export standard in two UNBRANDED packages (Polyethylene bags to be supplied by the Society) each containing not less than 7tb. net weight. One bag shall be used for display purposes. Each exhibit to contain not more than 7 per cent moisture. Prizes -First, £6; second, £2; third, £1.

281. British United Dairies Ptv., Ltd. 2823 Casino Co-op, Dairy Society, Ltd. 283 J Co-op. Dairy Assoc. of N.S.W., Ltd. 284 Drouin Co-op. Butter Factory Co., Ltd.

285. Hawkesbury Agricultural College. 286. Holdenson and Nielson Fresh Food Pty., Ltd. 287. Manning River Co-op. Dairy Society, Ltd.

288. Peters Creameries Pty., Ltd.

289. Peters Creameries (Grafton) Pty., Ltd.

MOST SUCCESSFUL EXHIBITOR IN DRIED MILK CLASSES.

(See Conditions at Head of Section). TETERS (READITABLE (e. 3 Pud))
(Special Prize)—£5 or a Cup or Trophy, for the most successful exhibitor in any three of the foregoing classes (Classes 9 to 13).

CHEESE.

Judges: H. Perrott R. C. Hottes, P. V. Roods Department of Primary Industry, Margaret-st., Sydney. 4 J. McGahey, Department of Primary Industry, Margaret-st. Sydney.

(Local Consumption): H. Silversides, Department of Agriculture, N.S.W. Sydney.

Bossell G. P. Fisher S. Francembe A. K. Potts

- 10VIS

Stewards:

f-uner!

One or more entries may be made by exhibitors but only one prize to be awarded to individual exhibitors in any one class.

Judging to commence on Thursday, 27th March. Exhibits in cheese classes must conform to the following: -

- (a) Each cheese of 80lb, or 40lb, shall be rimless unless otherwise specified.
- (b) Each Cheddar cheese other than Loaf, shall weigh approximately 80lb, or 40lb.

11-7 Sec. 11-DAIRY PRODUCE-Cheese (Continued).

(c) The height of an 80lb, and 40lb, cheese shall be approximately 12% and 6% inches respec-

(d) Cheese shall have a diameter of approximately 7 inches for 10lb, loaf; 7% inches for 14lb. loaf: 141 inches for 40lb. or 80lb. cheese

(e) Unless otherwise specified where wax is used, same must be of a transparent nature.

SCALE OF POINTS FOR JUDGING.

						om.
FLAVOU	R: M	ld an	d rich			50
TEXTUR	E AN	D C	OLOUF	t: F	Irm.	
close t	exture	and	clear	. br	ight	
colour						30
FINISH:	Shoul	d be	neat. a	ttrac	tive	
and of						
			• 4			20
Tot	al				-	100

The brands on all exhibits will be covered with paper or cloth. All exhibits must be in position not later than 5 p.m. on Tuesday, 25th March. Exhibits will be delivered from 9 a.m. on Wednesday, 9th April.

Each factory must supply agent with delivery order to obtain cheese.

CHEESE FOR EXPORT.

CLASS 14-Two cheeses packed as for export in one crate containing not less than 160lb. net. Packing and crating to be in accordance with Exports Dairy Produce Regulations with the exception that ends of crate shall be unbranded. Each cheese shall be stamped on the side with the date 318. Moruya Co-op. Dairy Society, Ltd. of manufacture and number of the vat and shall be not less than four weeks nor more than eight weeks old at time of judging. Prizes-First, £7 10s.; second, £3 15s.; third, £1 10s.

Disg 290. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba).

2913 Drouin Co-op. Butter Factory Co., Ltd. 2921Girgarre Cheese Factory and Trading Co. Pty., 322. Bodalla Co-op. Cheese Society, Ltd.

293. Haberfield's.

294. Maryborough Co-op. Dairy Assoc., Ltd.

295. Mount Tyson Co-op. Dairy Assoc., Ltd. 296. Norco Co-op., Ltd. (Dunoon).

297. Norco Co-op., Ltd. (Lismore).

CLASS 15-Three cheeses packed as for export in one crate containing not less than 120lb. net. Packing and crating to be in accordance with Exports Dairy Produce Regulations with the exception that ends of crate shall be unbranded. Each cheese shall be stamped on the side with the date of manufacture and vat number and shall be not less than four weeks nor more than eight 3363Norco Co-op., Ltd. (Lismore),

weeks old at time of judging. Prizes-First, £7 10s.; second, £3 15s.; third, £1 10s.

298. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba).

299. Girgarre Chese Factory and Trading Co. Pty., Ltd.

300. Haberfield's.

301. Hunter Valley Co-op. Dairy Co., Ltd.

302. Manning River Co-op, Dairy Society, Ltd.

Points 3034 Maryborough Co-op. Dairy Assoc., Ltd., (Tansey).

304. Mount Tyson Co-op. Dairy Assoc., Ltd.

305.3 Norco Co-op., Ltd. (Dunoon).

3062 Norco Co-op., Ltd. (Lismore),

CHEESE FOR LOCAL CONSUMPTION.

CLASS 16-Two Cheeses, matured, LOAF. Prizes -First, £7 10s.; second, £3 15s.; third, £1 10s.

307. Bodalla Co-op. Cheese Society, Ltd.

308. Buckajo Cheese Factory.

309. Downs Co-op. Dairy Assoc., Ltd. (Too-Woomba)

310. Drouin Co-op. Butter Factory Co., Ltd.

311. Girgarre Cheese Factory and Trading Co. Pty., Ltd

312. Haberfield's.

3132 Hawkesbury Agricultural College.

314. Hunter Valley Co-op. Dairy Co., Ltd.

315. Macleay River Co-op. Dairying Co., Ltd.

3163Manning River Co-op. Dairy Society, Ltd.

3174 Maryborough Co-op, Dairy Assoc., Ltd. (Tansey),

319. Mount Tyson Co-op. Dairy Assoc., Ltd.

320. Norco Co-op., Ltd. (Dunoon).

321. Norco Co-op., Ltd. (Lismore),

CLASS 17-Two Cheeses, matured, LARGE, 40lb. or over. Prizes-First, £7 10s.; second, £3 15s.; third, £1 10s.

323. Buckajo Cheese Factory.

324. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba),

325. Drouln Co-op. Butter Factory Co., Ltd.

326. Girgarre Cheese Factory and Trading Co. Pty., Ltd.

327. Haberfield's.

328 Hawkesbury Agricultural College.

329. Hunter Valley Co-op. Dairy Co., Ltd. 330. Macleay River Co-op, Dairying Co., Ltd.

331. Manning River Co-op. Dairy Society, Ltd.

3322 Maryborough Co-op. Dairy Assoc., Ltd. (Tansey).

333. Moruya Co-op. Dairy Society, Ltd.

334. Mount Tyson Co-op. Dairy Assoc., Ltd.

335. Norco Co-op., Ltd. (Duncon).

237. Bodalla Co-op. Cheese Society, Ltd.

338. Buckajo Cheese Factory.

339. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba),

3402 Drouin Co-op. Butter Factory Co., Ltd.

341. Girgarre Cheese Factory and Trading Co. Pty., Ltd.

342. Haberfield s.

343. Hawkesbury Agricultural College.

344. Hunter Valley Co-op. Dairy Co., Ltd.

345. Macleay River Co-op. Dairying Co., Ltd.

346. Manning River Co-op. Dairy Society, Ltd.

3473 Maryborough Co-op. Dairy Assoc., Ltd. (Tansey).

348. Moruya Co-op. Dairy Society, Ltd.

349. Mount Tyson Co-op. Dairy Assoc., Ltd.

350. Norco Co-op., Ltd. (Dunoon).

351. Norco Co-op., Ltd. (Lismore),

352. South Burnett Co-op. Dairy Assoc., Ltd. (Goomerl).

CLASS 19-Two Cheeses, LOAF, not more than 6 weeks old. Prizes-First, £7 10s.; second, £3 15s.; third, £1 10s.

353. Bodalla Co-op. Cheese Society, Ltd.

354. Buckajo Cheese Factory.

355. Downs Co-op. Dairy Assoc., Ltd. CToo- 200 Crooks, R. woomba).

356. Drouin Co-op. Rutter Factory Co., Ltd.

3573 Girgarre Cheese Factory and Trading Co. Ptv., Ltd.

358. Haberfield's.

359. Hawkesbury Agricultural College,

360. Hunter Valley Co-op. Dairy Co., Ltd.

361. Macleay River Co-op, Dairying Co., Ltd.

362. Manning River Co-op. Dairy Society, Ltd.

363. Maryborough Co-op. Dairy Assoc., Ltd. (Tansev)

364. Moruya Co-op. Dairy Society, Ltd.

3652 Mount Tyson Co-op, Dairy Assoc,, Ltd.

366. Norco Co-op., Ltd. (Dunoon).

367. Norco Co-op., Ltd. (Lismore).

368 South Burnett Co-op. Dairy Assoc., Ltd. (Goomeri).

CLASS 20-Two Cheeses, BLUE VEINED. Prizes -First, £5; second, £2; third, £1.

369 Lirgarre Cheese Factory and Trading Co. Ptv., Ltd.

370 Hawkesbury Agricultural College.

Abo 371. Norco Co-op., Ltd. (Lismore).

CLASS 21-(No Entry.)

CLASS 22-Two Cheeses, any one variety, other than Cheddar or Blue Veined types. To be exhibited as two complete cheeses, or two 5lb. blocks. Prizes-First, £5; second. £2: third. £1.

372. Girgarre Cheese Factory and Trading Co. Pty., Ltd.

373.3Haberfield's.

374.2Hawkesbury Agricultural College.

375. Macleay River Co-op. Dairying Co., Ltd.

376. Norco Co-op., Ltd. (Lismore),

CHEESEMAKERS' COMPETITION.

CLASS 23-(Special Prizes)-First, £8; second, £4; third, £2. For the maker of the best Cheddar Loaf Cheese not less than 14lb. manufactured and packed ready for storage for local consumption. The Cheese shall be not less than 12 weeks old at time of judging. It shall carry marks at centre of side surface in rubber stamp or stencil figures indicating date of manufacture, shall be clean-surfaced but not waxed, and shall have a diameter of approximately 7% inches.

> The entry is to be made in the name of the maker of the Cheese. The name of the factory for which the competitor is making must be stated on the certificate of entry but shall not be disclosed till after judging.

377. Bateman, W. J. 383. Mann, V. T. 3783Brady, L.

3842 Northam, W. 385 Parbery, K. K.

380. Connolley, H. B. 381. Healy, E. 382. Leslie, J.

386. Parbury, J. 387. Smith, G. F. 388. Vohland, S.

MOST SUCCESSFUL CHEESEMAKER.

(See conditions at head of Section).

. (Special Prize)-£5 or a Cup or Trophy, for the maker of the cheese exhibited by the most successful exhibitor. Mari G.F.Sm.T.

HAMS, BACON, AND LARD.

Judge:

Steward: B. S. Edwards

G. M. D. Carse. Department of Agriculture, N.S.W.,

Sydney.

One or more entries may be made by exhibitors in each class but only one prize to be awarded to individual exhibitors in any one class.

ALL EXHIBITS TO BE UNBRANDED (GOV-ERNMENT BRANDS EXCEPTED) AND IN UNBRANDED WRAPPERS, and must be in position not later than 5 p.m. on Wednesday, 26th March. Exhibits will not be received after this date. Exhibits will be cut not more than 24 hours before judging.

IT'S ALWAYS CHEAPER COLES

Sec. 11-DAIRY PRODUCE-Hams, Bacon, and Lard (Continued).

Exhibits will be delivered from 9 a.m. on Wed- 395. Riverstone Meat Co. Pty., Ltd. menday, 9th April. Each factory must supply agents with delivery order to obtain exhibits.

No exhibit to be scraped or trimmed in any way whilst in the possession of the Society, except with the written approval of the Director; any violation of this rule will disqualify the exhibit.

All exhibits in the Ham and Bacon classes must have been cured by and on the premises of the factory making the entry.

SCALE OF POINTS FOR JUDGING. HAMS (OTHER THAN CANNED) AND BACON 13 401. Foley Bros. Pty., Ltd. (Lismore).

FLAVOUR: Should be aweet and	
mild	30
COLOUR: Should be natural and	
even throughout	26
PROPORTION OF FAT AND	
LEAN: Should be nicely mixed,	
with lean predominating	20
TEXTURE AND FIRMNESS:	
Should be fine in grain and firm	44
for cutting	10.0
CONFORMATION: Shoulders	
should be fine in bone. Middles	
should be lengthy and straight in	
lines. Hams should be plump and	
fine in bone	10 p
FINISH: Should be smooth, bright,	-
and neatly cut, with smoking not	
too dark	10
Total	100

CANNED HAMS.

				1	ointi	
FLAVOUR	47	**	4.4	4.4	50	
PROPORTION	FAT	TO	LEAN		10	
TEXTURE		4.11			10	
COLOUR	44	44	12.4	4.	10	
PACKING	-11		**		20	
Total	**	**	111		100	
				-	-	

LARD.

				1	Omu
FLAVOUR	40	11	44		40
COLOUR		99			25
TEXTURE	W.	11	1.1		25
FINISH AND	AP	PEAR.	ANCE		10
Total					100
1 Utai			9 9		100

CLASS 26-Hams, two, factory cured and smoked. Prizes-First, £5; second, £3; third, £2.

389. Barnes Bacon Co. Pty., Ltd.

390. Bellinger River Co-op. Butter and Bacon Society, Ltd.

391. Dorrigo Co-op. Dairy Co., Ltd. 392 Poley Bros. Pty., Ltd. (Lismore).

393.3 Merimbula Co-op. Bacon Society, Ltd.

394. Norco Co-op., Ltd. (Byron Bay).

396. Silvester Bros. Ptv., Ltd.

397. Silvester Bros. Pty., Ltd.

CLASS 27-Bacon, two sides, factory cured and smoked. Prizes-First, £5; second, £3; third. £2.

398. Barnes Bacon Co. Pty., Ltd.

399. Bellinger River Co-op. Butter and Bacon Society, Ltd.

400./ Dorrigo Co-op. Dairy Co., Ltd.

403 Norco Co-op., Ltd. (Byron Bay).

404. Riverstone Meat Co. Pty., Ltd.

405. Silvester Bros. Pty., Ltd.

406. Blivester Bros. Pty., Ltd.

CLASS 28-Bacon, two flitches, factory cured and smoked. Prizes-First, £5; second, £3; third, £2.

407. Barnes Bacon Co. Pty., Ltd.

408. Bellinger River Co-op. Butter and Bacon Society, Ltd.

409. Dorrigo Co-op. Dairy Co., Ltd.

410. Foley Bros. Pty., Ltd. (Lismore). 4113Merimbula Co-op. Bacon Society, Ltd.

1412. Norco Co-op., Ltd. (Byron Bay),

413. Riverstone Meat Co. Pty., Ltd.

414. Silvester Bros. Pty., Ltd. 415. Silvester Bros. Pty., Ltd.

CLASS 29-Bacon, two middles, factory cured and smoked. Prizes-First, £5; second, £3: third, £2.

416. Barnes Bacon Co. Pty., Ltd.

417. Bellinger River Co-op. Butter and Bacon Society, Ltd.

1 89418. Dorrigo Co-op. Dairy Co., Ltd.

419. Foley Bros. Pty., Ltd. (Lismore).

420. Merimbula Co-op. Bacon Society, Ltd.

4213 Norco Co-op., Ltd. (Byron Bay),

422. Riverstone Meat Co. Pty., Ltd. 2 9423. Silvester Bros. Pty., Ltd.

424. Silvester Bros. Pty., Ltd.

CLASS 30-(No Entry.)

CLASS 31-(No Entry.)

CLASS 32-Lard, 56lb. box. Prizes-First, £3; second, £2; third, £1.

4252 Dorrigo Co-op. Dairy Co., Ltd.

426.3Foley Bros. Pty., Ltd. (Liamore).

427./ Norco Co-op., Ltd. (Byron Bay). 428. Riverstone Meat Co. Pty., Ltd.

MOST SUCCESSFUL BACON CURER.

(See conditions at head of Section.)

(Special Prize)-£5 or a Cup or Trophy, for the curer of the bacon exhibited by the most successful exhibitor in Classes 26 to 28. Gersefelier Donnie Gerteine Ge

INDEX TO EXHIBITORS

Section 11—DAIRY PRODUCE

Assoc., Ltd. (Mundubbera), Kent-st., Maryborough, Q'ld.

Astbury, K., c/o. Downs Co-op. Dalr Assoc., Ltd. (Crow's Nest), P.O. Box 209, Too- Downs Co-op. Dairy Assoc., Ltd. (Jandowae), woomba. Q'ld.

BARNES BACON CO. PTY., LTD., P.O. Box 3. Homebush, N.S.W.

Barron, V., c/o. Downs Co-op. Dairy Assoc., Ltd., P.O. Box 209, Toowoomba, Q'ld.

Batchelor, C. G., c/o. Nambucca River Co-op. Dairy Society, Ltd., P.O. Box 15, Macksville, N.S.W.

Bateman, W. J., c/o. Buckajo Cheese Factory, P.O. Box 205, Bega, N.S.W.

Bega Co-op. Society, Ltd., P.O. Box 123, Bega. N.S.W.

Bellinger River Co-op, Butter and Bacon Society, Ltd., Bellingen, N.S.W.

Blythe, H. W., c/o. Cobargo Co-op. Society, Ltd., P.O. Box 1, Cobargo, N.S.W.

Bodalla Co-op. Cheese Society, Ltd., Bodalla, N.S.W.

Brady, L., c/o. Macleay River Co-op. Dairying Co., Ltd., Kempsey, N.S.W.

British United Dairies Pty., Ltd., Toora, Vic.

Brooks, R., c/o. Norco Co-op., Ltd. (Duncon), P.O. Box 73, Byron Bay, N.S.W.

Browne, W. A., c/o. South Burnett Co-op. Dairy Assoc., Ltd. (Proston), P.O. Box 95, Murgon, Q'ld.

Browning, C., c/o. Foley Bros. Pty., Ltd., P.O. Box 93, Lismore, N.S.W.

Buckajo Cheese Factory, P.O. Box 205, Bega, N.S.W.

CANDELO CO-OP. DAIRY SOCIETY, LTD., P.O. Box 5, Candelo. N.S.W.

Casino Co-op. Dairy Society, Ltd., P.O. Box 22, Casino, N.S.W. Clarence River Pioneer Co-op. Dairy Co., Ltd.,

Ulmarra, N.S.W. Cobargo Co-op. Society, Ltd., P.O. Box 1, Cobargo,

N.S.W. Comboyne Rural Co-op. Society, Ltd., Comboyne,

N.8.W Connolley, H. B., c/o. Haberfield's, 395 David-st.,

Albury, N.S.W.

Co-op. Dairy Assoc. of N.S.W., Ltd., Raleigh, N.S.W.

Cork. L. G., c/o. Casino Co-op. Dairy Society, Ltd., P.O. Box 22, Casino, N.S.W.

DORRIGO CO-OP. DAIRY CO., LTD., P.O. Box 13, Dorrigo, N.S.W.

Downs Co-op. Dairy Assoc., Ltd. (Clifton), P.O. Box 209, Toowoomba, Q'ld.

Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest). P.O. Box 209, Toowoomba. Q'ld.

ANDERSEN, F. J., c/o. Maryborough Co-op. Dairy Downs Co-op. Dairy Assoc., Ltd. (Dalby), P.O. Box 209, Toowoomba, Q'ld.

Downs Co-op. Dairy Assoc., Ltd. (Goombungee). P.O. Box 209, Toowoomba, Q'ld.

P.O. Box 209, Toowoomba, Q'ld.

Downs Co-op. Dairy Assoc., Ltd. (Miles), P.O. Box 209, Toowoomba, Q'ld. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba),

P.O. Box 209, Toowoomba, Q'ld.

Drouln Co-op. Butter Factory Co., Ltd., Drouln, Vic

Dunning, W. J., c/o. South Wolumla Co-op. Creamery Co., Ltd., South Wolumla, N.S.W.

FERGUSON, W., c/o. Candelo Co-op. Dairy Society, Ltd., Candelo, N.S.W.

Foley Bros. Pty., Ltd. (Lismore), P.O. Box 93, Lismore, N.S.W.

Foley Bros. Pty., Ltd. (Mullumblimby), P.O. Box 93, Lismore, N.S.W.

GALVIN, J., c/o. Macleay River Co-op. Dalrying Co., Ltd., Kempsey, N.S.W.

Gerahty, M., c/o. Downs Co-op. Dairy Assoc., Ltd. (Goombungee), P.O. Box 209, Toowoomba, O'ld

Girgarre Cheese Factory and Trading Co. Pty., Ltd., 177 Victoria-pde., Collingwood, Vic. Gloucester Co-op. Dairy Co., Ltd., P.O. Box 30, Gloucester, N.S.W.

Green, A., c/o. Norco Co-op., Ltd. (Byron Bay), P.O. Box 73, Byron Bay, N.S.W.

HABERFIELD'S, 395 David-st., Albury, N.S.W Hall. J., c/o. Bellinger River Co-op. Butter and Bacon Society, Ltd., Bellingen, N.S.W.

Hanford, G., c/o, Downs Co-op. Dairy Assoc., Ltd. (Clifton), P.O. Box 209, Toowoomba, Q'H. Hawkesbury Agricultural College, Richmond,

N.S.W. Healy, E., c/o, Girgarre Cheese Factory and Trading Co. Pty., Ltd., 177 Victoria-pde., Collingwood, Vic.

Holdenson and Nellson Fresh Food Pty., Ltd., 628 Bourke-st., Melbourne.

Howlett, S. B., c/o. Nowra Co-op. Dairy Co., Ltd., Bolong-rd., Bomaderry, N.S.W.

Hunter Valley Co-op. Dairy Co., Ltd., Hexham, N.S.W.

ILLAWARRA CO-OP. CENTRAL DAIRY SOCIETY, LTD., Creamery-rd., Albion Park, N.S.W.

JENKINS, A. S., c/o. Klewa Butter and Cheese Factory and Creamery Co., Ltd., Kiewa,

INDEX TO EXHIBITORS-Section 11-Dairy Produce.

P.O. Box 73, Byron Bay, N.S.W.

Ltd., Comboyne, N.S.W.

Klewa Butter and Cheese Factory and Creamery Co., 1.td., Klewa, Vic.

Kirk, A., c/o. Norco Co-op., Ltd. (Murwillumbah), P.O. Box 73, Byron Bay, N.S.W.

LESLIE. J., c/o. Norco Co-op., Ltd. (Lismore), P.O. Box 73, Byron Bay, N.S.W.

McCANN, B., c/o. Foley Bros. Ptv., Ltd. (Mullumblmby), P.O. Box 93, Lismore, N.S.W.

McCarthy, E., c/o, Wingham Rural Co-op. Society, Ltd., Wingham, N.S.W.

Macleay River Co-op. Dairying Co., Ltd., Kempsey, N.S.W.

Mann, V. T., c/o. Mount Tyson Co-op, Dairy Assoc., Ltd., Mount Tyson, Oakey, Q'ld. Manning River Co-op. Dairy Society, Ltd., P.O.

Box 255, Taree, N.S.W. Maryborough Co-op, Dairy Assoc., Ltd. (Kinga-

roy), Kent-st., Maryborough, Q'ld. Maryborough Co-op. Dairy Assoc., Ltd. (Mundub-

bera), Kent-st., Maryborough, Q'ld. Maryborough Co-op. Dairy Assoc., Ltd (Tansey), Kent-st., Maryborough, Q'ld.

Maryborough Co-op. Dairy Assoc., Ltd., (Wondai), Kent-st., Maryborough, Q'ld.

Merlmbula Co-op, Bacon Society, Ltd., Merlmbula, N.S.W.

Moruya Co-op. Dairy Society, Ltd., Moruya, N.S.W. Mount Tyson Co-op. Dairy Assoc., Ltd., Mount Tyson, Oakey, Q'ld.

Moy, R., c/o. Peters Creamerles Pty., Ltd., P.O. Box 103, Taree, N.S.W.

NAMBUCCA RIVER CO-OP. DAIRY SOCIETY. LTD., P.O. Box 15, Macksville, N.S.W.

Neale, J. c/o. Manning Biver Co-op. Dairy Society, Ltd., P.O. Box 255, Taree, N.S.W.

Norco Co-op., Ltd. (Bonalbo), P.O. Box 73, Byron Bay, N.S.W. Norco Co-op., Ltd. (Byron Bay), P.O. Box 73,

Byron Bay, N.S.W. Norco Co-op., Ltd. (Dunoon), P.O. Box 73, Byron Bay, N.S.W

Norco Co-op., Ltd. (Kyogle), P.O. Box 73, Byron Bay, N.S.W

Norco Co-op., Ltd. (Lismore), P.O. Box 73, Byron Bay, N.S.W.

Norco Co-op., IAd. (Murwillumbah), P.O. Box 73, UPPER MACLEAY CO-OP. DAIRY CO., LTD., Byron Bay, N.S.W.

Northam, W., c/o. Manning River Co-op. Dairy Society, Ltd., P.O. Box 255, Taree, N.S.W.

Nowra Co-op. Dairy Co., Ltd., Bolong-rd., Bomaderry, N.S.W.

O'DEA, T., c/o. Downs Co-op. Dairy Assoc., Ltd. (Dalby), P.O. Box 209, Toowoomba, Q'ld.

PAMBULA CO-OP, CREAMERY AND DAIRY Wilson, W. J. c/o. Norco Co-op., Ltd. (Kyogle), CO., LTD., Pambula, N.S.W.

Parbery, K. K., c/o. Bodalla Co-op. Cheene Society. Ltd., Bodaila, N.S.W.

KEDZLIE, A., c/o. Norco Co-op., Ltd. (Lismore), Parbury, J., c/o. Moruya Co-op. Dairy Society, Ltd., Moruya, N.S.W.

Kennett, F., c/o. Comboyne Rural Co-op. Society, Patterson, W., c/o. Downs Co-op. Dairy Assoc., Ltd. (Miles), P.O. Box 209, Toowoomba,

> Peters Creameries Pty., Ltd., P.O. Box 103, Tarce, N.S.W.

> Peters Creameries (Grafton) Pty., Ltd., Fry-st., Grafton, N.S.W.

> Pollock, J., c/o. Gloucester Co-op. Dairy Co., Ltd., P.O. Box 30, Gloucester, N.S.W.

RAFTERY, K. L., c/o. Illawarra Co-op. Central Dairy Society, Ltd., Creamery-rd., Albion Park, N.S.W.

Rawson, J. G., c/o. Maryborough Co-op. Dairy Assoc., Ltd. (Kingaroy), Kent-st., Maryborough. O'ld

Rennick, W., c/o. Downs Co-op. Dairy Assoc., Ltd, (Jandowae), P.O. Box 209, Toowoomba,

Riverstone Meat Co. Pty., Ltd., Riverstone, N.S.W. Rodgers, W. H., c/o. South Burnett Co-op, Dairy Assoc., Ltd., P.O. Box 95, Murgon, Q'ld.

Russell, T. E., c/o, Maryborough Co-op. Dairy Assoc., Ltd. (Wondal), Kent-st., Maryborough, Q'ld.

SHAW, P., c/o. Dorrigo Co-op. Dairy Co., Ltd., P.O. Box 13. Dorrigo, N.S.W.

Silvester Bros. Pty., Ltd., 73 Regent-st., Redfern, Sydney.

Singleton Co-op. Dairy Co., Ltd., 21 Mary-st., Singleton, N.S.W.

Smith, G. F., c/o. Maryborough Co-op. Dairy Assoc. (Tansey), Kent-st., Maryborough, Q'ld.

South Burnett Co-op. Dairy Assoc., Ltd. (Goomeri), P.O. Box 95, Murgon, Q'ld.

South Burnett Co-op. Dairy Assoc., Ltd. (Murgon), P.O. Box 95, Murgon, Q'ld.

South Burnett Co-op. Dairy Assoc., Ltd. (Proston), P.O. Box 95, Murgon, Q'ld. South Wolumla Co-op. Creamery Co., Ltd., South

Wolumla, N.S.W. Squelch, C., c/o. Norco Co-op., Ltd. (Bonalbo), P.O. Box 73, Byron Bay, N.S.W.

TRUFOOD OF AUSTRALIA, LTD., 84 Williamst., Melbourne,

Toorooka, N.S.W.

VOHLAND, S., c/o. Downs Co-op. Dairy Assoc., Ltd., P.O. Box 209, Toowoomba, Q'ld.

WALKER, S., c/o. Bega Co-op. Society, Ltd., P.O. Box 123, Bega, N.S.W.

Wheeldon, J., c/o. Upper Macleay Co-op Dairy Co., Ltd., Toorooka, N.S.W.

P.O. Box 73, Byron Bay, N.S.W.

Wingham Rural Co-op. Society, Ltd., Wingham, N.S.W.